GROCO 144 Marine’Toilet

Type Pump: Piston
Type Operation: Hand

Production:?
Identification: "HT-144" cast into base

11/18/82

1963 - 1967

Item Part Number Part Name Qty | Available |Comments
» Yes No
Not Shown | 4967 Bowl i 1 | x
Not Shown TC-50 Seat & Cove 1 X
Not Shown 1/4 x 1 3/4 HB Bowl Bolts: 4 X
Not Shown 16-8 Bowl Washers 4 X
Not Shown 1/4 HB Bowl Nutg' 4 X
Not Shown Water Tube Water Tube 1 x
1 1/4 x 1 1/8 RB Rivet 3 x
2 HT-151 Socket 1 X
3 HT-149 Shaft Extension 1 X
4 3/8 x5 Pump . Shaft 1 x
5 HT-150 Link 1 X
* 6 037-075-8 Shaft Seal 1 X
7 ‘1/4 x 1 RS Screwg 4 x
8 1/4 x 1 1/4 RS Screwh 2 X
* 9 HT-49-A Vacuum Breaker 1 X
10 HT=-152 Pump Cylinder 1 X
11 HT-147 Piston & Ring Assy. 1 X
* 12 HT-148 Pump Cylinder Check 1 X
13 1/8-27 HB Drain Plug 1 X
* 14 H-6 Bowl Gasket 1 X
15 HT-144 Base 1 | x
16 HT-153 Cam & Handle 1. x
* 17 2-010 0-Rings 2 X
* 18 HC-5 Valve Check Plate 1 | x
* 19 HT-146 Inlet Check Gasket 1 X
20 HT-145 Inlet 1 X
21 10-24 x 5/8 RS Screws 8 x
* 22 H-27-A Joker Valve 1 X
23 HA-11 Swivel Bracket 1 X
24 HA-1 Discharge 1 X
25 1/4 HB Hex Nuts 2 X

* Parts included in 144 repair kit

Note?

Though many of the parts for this model toilet are no longer avallable,

1f the old parts are returned to the factory it is sometimes possible

LN . )

to repalr them.

A




